Year 4 Spring 1 Maths Activity Mat 2

Section 1 Section 2 Section 3 Section 4
Complete the calculation. The winning candidate in an Calculate Multiply 3, 9 and &
election polls 46 915 votes.
The other three candidates 364 + 10 = Write a number statement.
2 3 742 poll 37 396 altogether. How
_ 96 1 9 many people voted in the 1607 + 10 =
election?
5195 + 100 =
1801 + 100 =
Section 5 Section 6 Section 7 Section 8
Write these decimals in order, Polly has saved £28. List all the factors of these Calculate:
smallest first. For the next eight .nu.mtl)oers.l;l':e number of factors
is in brackets. _
6.6, 6.02, 6.26, 2.66, 6.2 weeks, she saves the x5 =300
same amount. She 24 (8)
now has £80. How x 6 =480
much has she saved 21 (&)
?
5.08, 5.8, 0.85, 5.5, 5.55 each week? + 8 =140
45 (6)
36 (9) *90=5
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Year & Spring 1 Maths Activity Mat 2 - Answers

Section 1 Section 2 Section 3 Section 4
Complete the calculation. The winning candidate in an Calculate Multiply 3, 9 and &
election polls 46 915 votes.
The other three candidates 364 + 10 = 36.4 Write a number statement.
2 3 742 poll 37 396 altogether. How
_ 96 1 9 many people voted in the 1607 + 10 = 160.7
election?
14123 5195 + 100 = | 51.95
84 311 1801100 = | 1801 3 x4x9=108
Section 5 Section 6 Section 7 Section 8
Write these decimals in order, Polly has saved £28. List all the factors of these Calculate:
smallest first. For the next eight .nu.mtl)oers.l;l':e number of factors
is in brackets. -
6.6, 6.02, 6.26, 2.66, 6.2 weeks, she saves the 60 | x5 =300
same amount. She
24 (8)| 1,2, 3,4,6,8,12, 24
2.66(16.02|| 6.2 ||6.26]|]| 6.6 now has £80. How 80 | x 6 = 480
much has she saved 21 (&) 1,3,7, 21
?
5.08, 5.8, 0.85, 5.5, 5.55 each week: 320| + 8 =40
45 (6)| 1,3,5,9, 15, 45
0.85]|5.08|| 5.5 ||5.55|| 5.8 £6.50 36 (9) [ 123, 46,9, 12, 18, 450|+90=5
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